# Oscillation Criteria for a Class of Second-Order Nonlinear Difference Equations

Sh. R. Elzeiny<sup>1</sup> and Z. A. Elmaned<sup>\*2</sup>

\*e- mail: <u>z.ali18@</u>su.edu.ly

#### **Abstract**

In this paper, we are concerned with the oscillation of a class of second- order non-linear difference equations. By using the Riccati technique some new oscillation criteria are established, therefore, we generalize and extend a number of existing oscillation criteria. An example is also given to illustrate our results.

**Keywords**: Différences équations, Oscillation, Ricati technique.

#### 1. Introduction

This paper is concerned with the oscillation of the solutions of the second-order non-linear difference equation

$$\Delta (k(n, x_n, \Delta x_n)) + q_n \varphi (g(x_{n+1}), k(n+1, x_{n+1}, \Delta x_{n+1})) = 0, n = 0, 1, \quad (E)$$

Where  $\Delta$  denotes the forward difference operator  $\Delta x_n = x_{n+1} - x_n$  for any sequence  $\{x_n\}$  of real numbers,  $\varphi \in \mathbb{C}(\mathbb{R}^2, \mathbb{R})$  with  $u\varphi(u,v) > 0 \forall u \neq 0, \frac{\partial \varphi(u,v)}{\partial v} \leq 0 \forall u \neq 0$  and  $v \in \mathbb{R}$  and  $\varphi(\lambda u, \lambda v) = \lambda \varphi(u, v)$  where  $\lambda > 0, g \in C(\mathbb{R}, \mathbb{R})$  with  $xg(x) > 0 \forall x \neq 0$ , and  $g(u) - g(v) = g_1(u,v)(u-v)^\delta$  for  $u,v \neq 0, \delta > 0$  is the ratio of odd positive integers,  $g_1(u,v) \geq 0$  and  $g(u) \geq g(v)$  iff  $u \geq v, k \in C^1(\mathbb{N} \times \mathbb{R}^2, \mathbb{R})$  with  $wk(u,v,w) > 0 \forall w \neq 0$ , and  $\{q_n\}_{n=0}^\infty$  is a sequence of real values.

<sup>&</sup>lt;sup>1</sup> Al-Baha University, Kingdom of Saudi Arabia

<sup>&</sup>lt;sup>2</sup> Mathematics Department, Faculty of Science, Sirte University

A solution of (E) is a nontrivial real a sequence  $\{x_n\}$  satisfying Equation (E) for  $n \ge 0$ . A solution  $\{x_n\}$  of (E) is said to be oscillatory if is neither eventually positive nor eventually negative, otherwise it is nonoscillatory Equation (E) issaid to be oscillatory if all its solutions are oscillatory.

There are a great number of papers devoted to particular cases of equation (E) such as

$$\Delta(r_n(\Delta x_n)^r) + q_n x_{n+1}^r = 0, n = 0,1,...,$$

$$\Delta(r_n \Delta x_n) + q_n g(x_{n+1}) = 0, n = 0,1, ...,$$

and

$$\Delta(r_n \psi(x_n) \Delta x_n) + q_n g(x_{n+1}) = 0, n = 0,1,...,$$

See for example ([1-4, 6, 7,9-26]) and references cited therein.

For the oscillation of

$$\Delta(r_n\psi(x_n)f(\Delta x_n)) + q_n\varphi(g(x_{n+1}), r_n + 1\psi(x_{n+1})f(\Delta x_{n+1})) = 0, n = 0, 1, ...,$$

 $(E_1)$ 

Where  $\psi$  and f are containuous functions on  $\mathbb{R}$ with  $\psi(x) > 0$  and xf(x) > 0 for all  $x \neq 0$ , and  $\{r_n\}_{n=0}^{\infty}$  is sequence of positive real numbers.

For the equation  $(E_1)$ , E. M. Elabbasy and Sh. R. Elzeiny [5: Theorem 2.1], proved that, if there exist a constant  $c_1 \in \mathbb{R}_+$  such that

$$\Phi(m) = \int_0^m \frac{dv}{\varphi(1,v)} \ge -c_1 \text{ for every } m \in \mathbb{R}, \qquad (1.1)$$

and

$$\lim_{t \to \infty} \sup \sum_{i=n_0}^{n-1} q_i = \infty. \tag{1.2}$$

Then every solution of equation (E) oscillates.

Also ,they [5: Lemma 2.2], proved that, if  $f(y) = y^r$ , where r is the ratio of odd positive integers, and there exist positive integers  $N_0$  and  $N_1, N_1 \ge N_0$  such that

$$\sum_{i=N_0}^{\infty} q_i \ge 0 \text{ and } \sum_{i=N_1}^{\infty} q_i > 0 \forall N_1 \ge N_0,$$
 (1.3)

$$\sum_{n=0}^{\infty} \left(\frac{1}{r_n}\right)^{\frac{1}{r}} = \infty,\tag{1.4}$$

The function  $(\frac{\psi}{g})$  is nonincreasing for all  $x \neq 0$ , (1.5)

$$F(u) - F(v) = F_1(u, v)(u - v), for u, v \neq 0, F_1(u, v) < 0$$
 and

$$F(u) \ge F(v)$$
 iff  $u \le v$ , where  $F(\omega) = \varphi(1, \omega)$ , (1.6)

And  $\{x_n\}$  is a non-oscillatory solution of equation  $(E_1)$  such that  $x_n > 0$  for all  $n \ge N$ , then there exists an integer  $N \ge N_1$  such that  $\Delta x_n > 0$  for all  $n \ge N$ .

Our objective here is to proceed further in this direction to obtain some new sufficient conditions for oscillation of solutions of equation(E) and some of our results obtained by implying and extending those in ([1-7, 9-26)].

## 2. Main Results

For strain hardening material, the yield surface must change in some way so that an increase in **Theorem 2.1**. Assume that (1.1) and (1.2) hold. Then every solution of equation (E)oscillates.

**Proof**: suppose to the contrary that  $\{x_n\}$  is a nonoscillatory solution of (E).

Without loss of generality, we may assume that  $\{x_n\}$  is an eventually positive solution of (E) such that  $x_n > 0$ ,  $n \ge n_0$ . Define the sequence  $\{\omega_n\}$  by

$$\omega_n = \frac{k(n, x_n, \Delta x_n)}{g(x_n)}, n \ge n_0.$$

Then, for all  $n \ge n_0$ , we have

$$\Delta\omega_n = \frac{\Delta(k(n, x_n, \Delta x_n))}{g(x_{n+1})} - k(n, x_n, \Delta x_n) \frac{\Delta(g(x_n))}{g(x_n)g(x_{n+1})}.$$

This and (E) imply

$$\Delta\omega_n = -\varphi(1, \omega_{n+1})q_n - k(n, x_n, \Delta x_n) \frac{g_1(x_{n+1}, x_n)(\Delta x_n)^{\delta}}{g(x_n)g(x_{n+1})}.$$

Hence, for all  $n \ge n_0$ , we obtain

$$\Delta \omega_n \le -\varphi(1, \omega_{n+1})q_n.$$

Or

$$\varphi(1,\omega_{n+1})q_n \leq -\Delta\omega_n$$
,  $n \geq n_0$ .

Dividing this inequality by  $\varphi(1, \omega_{n+1}) > 0$ , We obtain

$$q_n \le -\frac{\Delta \omega_n}{\varphi(1, \omega_{n+1})}, n \ge n_0. \tag{2.1}$$

Summing (2.1) from  $n_0$  to n-1, we have

$$\sum_{m=n_0}^{n-1} q_m \le -\sum_{l=n_0}^{n-1} \frac{\Delta \omega_l}{F(\omega_{l+1})}, \quad \text{where } F(\omega_n) = \varphi(1, \omega_n).$$
 (2.2)

Define  $\delta(t) = \omega_l + (t - l) \Delta \omega_l$ ,  $t \in [l, l + 1]$ . Then we have one of the following two cases

Case (1): If  $\Delta\omega_l \geq 0$ , then  $\omega_l \leq \delta(t) \leq \omega_{l+1}$ . Thus, in view of the definition of the function  $\varphi$ , we get

$$\frac{\Delta\omega_l}{F(\omega_l)} \le \frac{\delta'(t)}{F(\delta(t))} \le \frac{\Delta\omega_l}{F(\omega_{l+1})}.$$
(2.3)

Case (2): If  $\Delta \omega_l \leq 0$ , then  $\omega_{l+1} \leq \delta(t) \leq \omega_l$ . So we can directly obtain (2.3).

Now, by (2.2) and (2.3), we get

$$\sum_{m=n_0}^{n-1} q_m \le -\int_{n_0}^n \frac{d(\delta(t))}{F(\delta(t))} = -\int_{\delta(n_0)}^{\delta(n)} \frac{du}{\varphi(1,u)} = -\left[\Phi(\delta(n)) - \Phi(\delta(n_0))\right]$$

$$\leq c_1 + \Phi(\delta(n_0)) = c_1 + \Phi(\omega_{n_0}).$$
 (2.4)

Taking the limit superior on both sides for (2.4), we obtain

$$\lim_{t\to\infty}\sum_{i=n_0}^{n-1}q_i<\infty,$$

Which contradicts (1.2). Hence, the proof is completed.

**Example** 2.1: Consider the difference equation

$$\Delta((n^2 + x_n^2 - 4x_n\Delta x_n + 4(\Delta x_n)^2)\Delta x_n) + (1 + 2(-1)^n)\varphi(u, v) = 0, n \ge 1. \quad (2.5)$$

Here, 
$$k(n, x_n, \Delta x_n) = (n^2 + x_n^2 - 4x_n \Delta x_n + 4(\Delta x_n)^2) \Delta x_n$$
,  $q_n = 1 + 2(-1)^n$ ,

And 
$$\varphi(u, v) = ue^{-\frac{v}{u}}$$
, where  $u = g(x_{n+1}) = x_{n+1}^3$ , and

$$v = ((n+1)^2 + x_{n+1}^2 - 4x_{n+1}\Delta x_{n+1} + 4(\Delta x_{n+1})^2)\Delta x_{n+1}.$$

All conditions of Theorem 2.1 are satisfied, and hence, all solutions of equation (2.5) are oscillatory.

Note that the Results of E.M. Elabbasy and sh. R. Elzeiny [5] cannot be applied to (2.5).

**Theorem 2.2:** Assume that  $k(n, x, y) \ge byr_n \ \forall \ y \in \mathbb{R}$  and for some constant b > 0. Furthermore, suppose that

$$\lim_{|\omega| \to \infty} \inf \varphi (1, \omega) = c > 0, \tag{2.6}$$

$$\int_{0}^{\pm \varepsilon} \frac{du}{g(u)} < \infty \forall \varepsilon > 0, \tag{2.7}$$

$$\lim_{n \to \infty} \sup \sum_{m=n_0}^{n-1} \frac{1}{r_m} < \infty, \tag{2.8}$$

And

$$\lim_{n \to \infty} \sup \sum_{m=n_0}^{n-1} \left( \frac{1}{r_m} \left( \sum_{i=n_0}^{m-1} q_i \right) \right) = \infty$$
 (2.9)

Then every solution of equation (E) oscillates.

**Proof**: Suppose to the contrary that  $\{x_n\}$  is a nonoscillatory solution of (E).

Without loss of generality, we may assume that  $\{x_n\}$  is an eventually positive solution of (E) such that  $x_n > 0$ ,  $n \ge n_0$ . Define the sequence  $\{\omega_n\}$  as in the proof of the pervi- ous theorem. Following the same procedures, we get of Theorem (2.1). Now, we have one of the following two cases:

**Case** (1): If  $\Delta \omega_n \geq 0$ , then  $\omega_{n+1} \geq \omega_n \geq \omega_{n_0}$ .

In view of the definition of the function  $\varphi$ , and the condition (2.6), we get

$$-\frac{\Delta\omega_n}{F(\omega_{n+1})} \le -\frac{\Delta\omega_n}{F(\omega_{n0})}, n \ge n_0. \tag{2.10}$$

Case (2): If  $\Delta\omega_l \leq 0$ , then  $\omega_{n+1} \leq \omega_n \leq \omega_{n0}$ . So, by the definition of the function  $\varphi$ , and the condition (2.6) we can directly obtain (2.10). Now, by (2.1) and (2.10), we get

$$\sum_{l=n_0}^{n-1} q_l \le -\frac{1}{F(\omega_{n0})} \sum_{l=n_0}^{n-1} \Delta \omega_l.$$

Then, for all  $n \ge n_0$ , we have

$$\sum_{l=n_0}^{n-1} q_l \leq -\frac{1}{c}(\omega_n - \omega_{no}), where F(\omega_{n0}) = c > 0.$$

Hence, for all  $n \ge n_0$ , we obtain

$$\frac{\omega_n}{c} \le \frac{\omega_{no}}{c} - \sum_{l=n_0}^{n-1} q_l = c_2 - \sum_{l=n_0}^{n-1} q_l$$
, where  $c_2 = \frac{\omega_{n0}}{c}$ .

Then,

$$c^{-1}\frac{k(n, x_n, \Delta x_n)}{g(x_n)} - c_2 \le -\sum_{l=n_0}^{n-1} q_l.$$

Hence, for all  $n \ge n_0$ , we obtain

$$\frac{b}{c}\frac{\Delta x_n}{g(x_n)} - \frac{c_2}{r_n} \le -\frac{1}{r_n}\sum_{l=n_0}^{n-1} q_l.$$

Summing the above inequality from  $n_0$  to n-1, we have

$$c_3 \sum_{l=n_0}^{n-1} \frac{\Delta x_l}{g(x_l)} - c_2 \sum_{l=n_0}^{n-1} \frac{1}{r_l} \le -\sum_{l=n_0}^{n-1} (\frac{1}{r_l} \sum_{m=n_0}^{l-1} q_m), \text{ where } c_3 = \frac{b}{c}.$$
 (2.11)

Define  $\delta(t) = x_l + (t - l)\Delta x_l$ ,  $t \in [l, l + 1]$ . Then we have one of the following two cases:

Case (1): If  $\Delta x_l \ge 0$ , then  $x_l \le \delta(t) \le x_{l+1}$ . Thus, in view of the definition of the function g, we get

$$\frac{\Delta x_l}{g(x_l)} \ge \frac{\delta'(t)}{g(\delta(t))} \ge \frac{\Delta x_l}{g(x_{l+1})}.$$
 (2.12)

Case (2): If  $\Delta x_l \leq 0$ , then  $x_{l+1} \leq \delta(t) \leq x_l$ . So we can directly obtain (2.12).

Now, by (2.11) and (2.12), we get

$$c_{3} \int_{n_{0}}^{n} \left(\frac{1}{g}\right) \left(\delta(t)\right) d\left(\delta(t)\right) \leq c_{2} \sum_{l=n_{0}}^{n-1} \frac{1}{r_{l}} - \sum_{l=n_{0}}^{n-1} \left(\frac{1}{r_{l}} \sum_{m=n_{0}}^{l-1} q_{m}\right).$$

Then, for all  $n \ge n_0$ , we obtain

$$c_3 \int_{\delta(n_0)}^{\delta(n)} \frac{du}{g(u)} \le c_2 \sum_{l=n_0}^{n-1} \frac{1}{r_l} - \sum_{l=n_0}^{n-1} \left(\frac{1}{r_l} \sum_{m=n_0}^{l-1} q_m\right),$$

Which implies that

$$\int_{\delta(n_0)}^{\delta(n)} \frac{du}{g(u)} \to -\infty \text{ as } n \to \infty.$$

Now, if  $\delta(n) \ge \delta(n_0)$  for large n, then  $\int_{\delta(n_0)}^{\delta(n)} \frac{du}{\sigma(u)} \ge 0$ ,

Which a contradiction. Hence, for large n,  $\delta(n) \leq \delta(n_0)$ , so

$$-\int_{\delta(n)}^{\delta(n_0)} \frac{du}{g(u)} \ge -\int_{0}^{\delta(n_0)} \frac{du}{g(u)} > -\infty,$$

Which is again a contradiction. This completes the proof of Theorem 2.2.

**Example 2.2**: Consider the difference equation

$$\Delta\left(\left(\frac{1}{n^2} + x_n^2 - 6x_n\Delta x_n + 9(\Delta x_n)^2\right)e^{\Delta x_n}\Delta x_n\right) + (2 + 3(-1)^n)\varphi(u, v) = 0, n \ge 1. (2.13)$$

Here, 
$$k(n, x_n, \Delta x_n) = \left(\frac{1}{n^2} + x_n^2 - 6x_n \Delta x_n + 9(\Delta x_n)^2\right) e^{\Delta x_n} \Delta x_n \ge \frac{1}{n^2} \Delta x_n$$

then 
$$\left(b = 1, \text{ and } r_n = \frac{1}{n^2}\right)$$
,  $q_n = 2 + 3(-1)^n$ , and  $\varphi(u, v) = u(1 + e^{\frac{-v}{u}})$ ,

where 
$$u = g(x_{n+1}) = x_{n+1}^5$$
, and  $v = \left(\frac{1}{(n+1)^2} + x_{n+1}^2 - 6x_{n+1}\Delta x_{n+1} + 9(\Delta x_{n+1})^2\right)e^{\Delta x_{n+1}}\Delta x_{n+1}$ .

All conditions of Theorem 2.2 are satisfied, and hence, all solutions of equation (2.13) are oscillatory.

Note that the Results of E. M.Elabbasy and Sh. R. Elzeiny [5] cannot be applied to (2.13).

In the following, we state and prove some lemmas which will be needed later on.

**Lemma 2.1:** Assume that there exist positive integers  $N_0$ , N,  $N \ge N_0$  such that (1.3) holds.

Then there exist an integer  $N_1 \ge N$  such that

$$\sum_{i=N_1}^{n} q_i \ge 0 \,\forall \, n \ge N_1. \tag{2.14}$$

The proof of the above Lemma can be found in [7,Lemma 2.1].

**Lemma 2.2**: Assume that (1.3) holds,  $k(n, x, y) \ge byr_n \forall y \in \mathbb{R}$  and for some constant b > 0, and  $\varphi(u, v) = u$  in equation (E). Furthermore, suppose that

$$\sum_{n=0}^{\infty} \left(\frac{1}{r_n}\right) = \infty. \tag{2.15}$$

If  $\{x_n\}$  is a non-oscillatory solution of equation (E) such that  $x_n > 0$  for all  $n \ge N_0$ , then there exists an integer  $N \ge N_0$  such that  $\Delta x_n > 0$  for all  $n \ge N$ .

**Proof:** If not, assume first that  $\Delta x_n < 0$  for all large n, say  $n \ge N \ge N_0$ .

Without loss of generality, we may assume that (1.3) holds for  $n \ge N$  and  $q_N \ge 0$ .

Define

$$Q_n = \sum_{l=N}^n q_l \text{ for } n \ge N \text{ and } Q_{N-1} = 0.$$
 (2.16)

Then, we have,

$$\sum_{l=N}^{n} q_{l}g(x_{l+1}) = \sum_{l=N}^{n} g(x_{l+1})\Delta Q_{l-1} = \sum_{l=N}^{n} [\Delta(g(x_{l+1})Q_{l-1}) - Q_{l}\Delta g(x_{l+1})]$$

$$= g(x_{n+2})Q_{n} - g(x_{N+1})Q_{N-1} - \sum_{l=N}^{n} Q_{l}\Delta g(x_{l+1})$$

$$= g(x_{n+2})Q_{n} - \sum_{l=N}^{n} ((g(x_{l+2}) - g(x_{l+1}))Q_{l})$$

$$= g(x_{n+2})Q_{n} - \sum_{l=N}^{n} (g_{1}(x_{l+2}, x_{l+1})\Delta x_{l+1}Q_{l}) \ge 0.$$

From equation (E), therefore

$$\sum_{l=N}^{n} \Delta(k(l, x_l, \Delta x_l)) \le 0.$$

Hence,

$$k(n+1, x_{n+1}, \Delta x_{n+1}) \le k(N, x_N, \Delta x_N)$$
< 0.

since

$$k(n+1,x_{n+1},\Delta x_{n+1}) \ge br_{n+1}\Delta x_{n+1}.$$

Then,

$$\Delta x_{n+1} \le \frac{c_4}{r_{n+1}} < 0, \qquad c_4 = \frac{k(N, x_N, \Delta x_N)}{b} < 0.$$
 (2.17)

Summing (2.17) from N to n - 1, we obtain

$$x_{n+1} - x_N < c_4 \sum_{l=N+1}^{n} \frac{1}{r_l}$$

Then, we get

 $x_{n+1} \to -\infty$  as  $n \to \infty$ , which a contradiction.

Next, assume that  $\Delta x_n$  is oscillatory for  $n \ge N_1 \ge N \ge N_0$ . Then there exists a subsequence  $\{n_k\}_{k=1}^{\infty}$  with  $\lim_{k\to\infty} n_k = \infty$  and such that  $\Delta x_{n_k} = 0$ , k = 1,2,3....

Letting

$$\omega_n = \frac{k(n, x_n, \Delta x_n)}{g(x_n)}, n \ge N_1.$$

Then, for all  $n \ge N_1$ , we obtain

$$\Delta\omega_{n} = \frac{\Delta(k(n, x_{n}, \Delta x_{n}))}{g(x_{n+1})} - \frac{k(n, x_{n}, \Delta x_{n})\Delta g(x_{n})}{g(x_{n})g(x_{n+1})}$$

$$= \frac{-q_{n} g(x_{n+1})}{g(x_{n+1})} - \frac{k(n, x_{n}, \Delta x_{n})g_{1}(x_{n+1}, x_{n})(\Delta x_{n})^{\delta}}{g(x_{n})g(x_{n+1})}$$

$$\leq -q_{n}, n \geq N_{1}.$$

Then,

$$q_n \leq -\Delta\omega_n$$
,  $n \geq N_1$ .

Summing the above inequality from  $n_1$  to  $n_k - 1$ , we have

$$\sum_{l=n_1}^{n_{k-1}} q_l \le -\omega_{n_k} + \omega_{n_1} = 0,$$

Which contradicts (2.14). Hence  $\Delta \omega_n > 0$  for all  $n \geq N_1$ .

**Theorem 2.3**: Assume that (1.3) and (2.15) hold,  $k(n, x, y) \ge byr_n \ \forall \ y \in \mathbb{R}$  and for some constant b > 0, and  $\varphi(u, v) = u$  in equation (E). Furthermore, assume that there exists  $\lambda \ge 1$  such that

$$\lim_{m \to \infty} \sup \frac{1}{m^{\lambda}} \sum_{n=n_0}^{m-1} (m-n)^{\lambda} q_n = \infty.$$
 (2.18)

Then every solution of Equation (E) oscillates.

**Proof**: suppose to the contrary that  $\{x_n\}$  is a non oscillatory solution of (E).

Without loss of generality, we may assume that  $\{x_n\}$  is an eventually positive solution of (E), such that  $x_n > 0$  for all large n. In view of lemma 2.2, we see that, there is some  $n_1 \ge n_0$  such that

$$x_n > 0$$
,  $\Delta x_n > 0$ ,  $n \ge n_1$ .

Define the sequence  $\{\omega_n\}$  by

$$\omega_n = \frac{k(n, x_n, \Delta x_n)}{g(x_n)}$$
,  $n \ge n_1$ , then  $\omega_n > 0$  and  $q_n \le -\Delta \omega_n$ .

Hence,

$$\sum_{n=n_1}^{m-1} (m-n)^{\lambda} q_n \le -\sum_{n=n_1}^{m-1} (m-n)^{\lambda} \Delta \omega_n.$$
 (2.19)

But

$$-\sum_{n=n_1}^{m-1} (m-n)^{\lambda} \Delta \omega_n = (m-n_1)^{\lambda} \omega_{n_1} - \sum_{n=n_1}^{m-1} \omega_{n+1} [(m-n)^{\lambda} - (m-n-1)^{\lambda}].$$

By means of the well-known inequality [8]

$$x^{\beta} - y^{\beta} \ge \beta y^{\beta-1}(x-y)$$
 for all  $x \ge y > 0$  and  $\beta \ge 1$ ,

We have,

$$-\sum_{n=n_{1}}^{m-1} (m-n)^{\lambda} \Delta \omega_{n} \leq (m-n_{1})^{\lambda} \omega_{n_{1}} - \sum_{n=n_{1}}^{m-1} \lambda \omega_{n+1} (m-n-1)^{\lambda-1}$$

$$\leq (m-n_{1})^{\lambda} \omega_{n_{1}}.$$
(2.20)

Then by (2.19) and (2.20), we get

$$\sum_{n=n_1}^{m-1} (m-n)^{\lambda} q_n \le (m-n_1)^{\lambda} \omega_{n_1},$$

Which implies that

$$\frac{1}{m^{\lambda}} \sum_{n=n_1}^{m-1} (m-n)^{\lambda} q_n \le \left(\frac{m-n_1}{m}\right)^{\lambda} \omega_{n_1}.$$

Hence,

$$\lim_{m\to\infty}\sup\frac{1}{m^{\lambda}}\sum_{n=n_1}^{m-1}(m-n)^{\lambda}q_n<\infty,$$

Which is contradiction to (2.18). The proof is completed.

**Theorem 2.4**: Assume that (1.3) and (2.15) hold,  $k(n, x, y) \ge byr_n \ \forall \ y \in \mathbb{R}$  and for some constant b > 0, and  $\varphi(u, v) = u$  in equation (E). Furthermore, assume that there exists a positive sequence  $\{p_n\}_{n=0}^{\infty}$  such that  $\Delta P_n \le 0$  for all  $n \ge n_0 > 0$ , and

$$\sum_{n=n_0}^{\infty} \rho_{n+1} q_n = \infty, \text{ for some } n_0 > 0, \tag{2.21}$$

Then every solution of equation (E) oscillates.

**Proof**: Suppose to the contrary that  $\{x_n\}$  is a nonoscillatory solution of (E).

Without loss of generality, we may assume that  $\{x_n\}$  is an eventually positive solution of (E) such that  $x_n > 0$  for all  $n \ge n_0 > 0$ . Then,  $g(x_{n+1}) > 0$  for all  $n \ge n_0 > 0$ .

Then, from Lemma 2.2, there exists an integer  $n_1 \ge n_0$ , sufficiently large, so that

$$\Delta x_n > 0$$
 for all  $n \ge n_1$ .

Now,

$$\begin{split} \Delta \left( \frac{\rho_n k(n, x_n, \Delta x_n)}{g(x_n)} \right) &= \frac{\rho_{n+1}}{g(x_{n+1})} \Delta \left( k(n, x_n, \Delta x_n) \right) + k(n, x_n, \Delta x_n) \Delta \left( \frac{\rho_n}{g(x_n)} \right) \\ &\leq -\rho_{n+1} q_n + \frac{k(n, x_n, \Delta x_n) \Delta \rho_n}{g(x_{n+1})} - \frac{\rho_n k(n, x_n, \Delta x_n) \Delta (g(x_n))}{g(x_n) g(x_{n+1})} \\ &\leq -\rho_{n+1} q_n + \frac{k(n, x_n, \Delta x_n) \Delta \rho_n}{g(x_{n+1})} - \frac{\rho_n k(n, x_n, \Delta x_n) \Delta x_n}{g(x_n) g(x_{n+1})} \\ &\leq -\rho_{n+1} q_n, \text{ forall } n \geq n_1. \end{split}$$

Hence,

$$\rho_{n+1}q_n \le \Delta\left(\frac{\rho_n k(n, x_n, \Delta x_n)}{g(x_n)}\right).$$

Summing the above inequality from  $n_1$  to n-1, we obtain

$$\sum_{m=n_{1}}^{n-1} \rho_{m+1} q_{m} \leq \frac{\rho_{n_{1}} k(n_{1}, x_{n_{1}}, \Delta x_{n_{1}})}{g(x_{n_{1}})} - \frac{\rho_{n} k(n, x_{n}, \Delta x_{n})}{g(x_{n})}$$
$$\leq \frac{\rho_{n_{1}} k(n_{1}, x_{n_{1}}, \Delta x_{n_{1}})}{g(x_{n_{1}})},$$

which is contrary to (2.21). The proof is completed.

### References

- [1] R. P. Agarwal, Difference Equations and Inequalities, Marcel Dekker, New York, (1992).
- [2] R. P. Agarwal and P.J.Y. Wong, Advanced Topic in Difference Equations, Kluwer Academic, Dordrecht, (1997).
- [3] S. S. Cheng, Hille-Wintner type comparison theorems for nonlinear difference equations, FunkcialajEkvacioj 37 (1994), 531-535.
- [4] S. S. Cheng and S. H. Saker, Oscillation criteria for difference equations with damping terms, Appl. Math. And comp. 148 (2004), 421-442.
- [5] E. M. Elabbasy and Sh. R. Elzeiny, Oscillation theorem for non-linear difference equation of the second order, Carpathian J. Math. 25 (1), 2009, 61-72.
- [6] M. M. A. El-Sheikh, M. H. Abd All and El. Maghrabi, Oscillation and nonoscillation of nonlinear second order difference eq.s, J. Appl. Math. And computing vol. 21 (1-2) (2006), 203-214.
- [7] L. H. Erbe and B. G. Zhang, Oscillation of second order linear differ-ence equations, Chainese J. Math. 16 (1988), 239-252.
- [8] G. H. Hardy, J. E. Littlewood and G. Polya, Inequalities, second ed, Cambridge Univ. Press, 1952.
- [9] W. G. Kelley and A. C. Peterson, Difference Equations: An introduce- tion with Applications, Academic Press, New York, (1991).
- [10] V. Lakshmikanthan and D. Trigiante, Difference Equations, Numeri- cal Methods and Application, Academic Press, New York, (1988).
- [11] W. T. Li and X. L. Fan, Oscillation criteria for second-order nonlinear difference equations with damped term, Comp. Math. Appl. 37 (1999), 17-30.
- [12] M. Peng, Q. Xu, L. Huang and W. G. Ge, Asymptotic and oscil-latory behavior of solutions of certain second-order nonlinear difference equations, comp. Math. Appl. 37 (1999), 9-18.
- [13] M. peng, W. G. Ge and Q. Xu, New criteria for the oscillation and existence of monotone solutions of second-order nonlinear difference equa-tions . Appl.Math. Comp. 114 (2000), 103-114.
- [14] B. Szmanda, Oscillation theorems for nonlinear second- order differ-ence equations, J. Math. Anal. Appl. 79 (1981), 90-95.
- [15] Z. Szafranski and B. Szmanda, Oscillation theorems for some nonlin- eardefference equations, Appl. Math. Comp. 83 (1997), 43-52.
- [16] E. Thandapani, I. Gyori and B. S. Lalli, An application of discrete inequality to second-order nonlinear oscillation, J. Math. Anal. Appl. 186 (1994), 200-208.
- [17] E. Thandapani and B. S. Lalli, Oscillation criteria for a second-order damped difference equation, Appl. Math. Lett. 8(1995), 1-6.
- [18] E. Thandapani and S. L. Marian, The asymptotic behavior of solu-tion of nonlinear second-order difference equation, Appl. Math. Lett 14 (2000), 611-616.
- [19] E . Thandapani and S. Pandian, Asymptotic and oscillatory behavior of general nonlinear difference equation, of second-order, comp. Math. Appl. 36 (1998), 413-421.
- [20] E. Thandapani, S. Pandian and B. S. Lelli, Oscillatory and nonoscilla-tory behavior of second-order functional difference equation, Appl. Math. Comp. 70 (1995), 53-66.
- [21]E. Thandapani and K. Ravi, Oscillation of second-order half-linear difference equation, Appl. Math. Letters 13 (2002), 43-49.
- [22] E. Thandapani, K. Ravi, and G. R. Graef, Oscillationtheorems for quasilinear second-order difference equations, Comp. Math. Appl42 (2001), 687-694.

Vol. 8(1), 132–146 June 2018

- [23] P. J. Y. Wong and R. P. Agarwal, Oscillation and monotone solutions of second order quasilinear difference equations, FunkcialajEkvacioj 39 (1996), 491-517.
- [24] B. G. Zhang and G. D. Chen, Oscillation of certain second order nonlinear difference equations, J. Math. Anal. Appl. 199 (1996), 841-872.
- [25] Z. Zhang and P. Bi, Oscillation of second-order nonlinear difference equation with continuous variable, J. Math. Anal. Appl. 255 (2001), 349-357.
- [26] G. Zhang and S. S. Cheng, A necessary and sufficient oscillation condition for the discrete Euler equation, pan. Amer. Math. J. 9 (4) (1999), 29-34.

Vol. 8(1), 132–146 June 2018